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5 Table ROVER
6 Rounds of 4 Boards

TD Notes

5 Table ROVER Pairs. Uplift of AM-4T-6R
IT WILL NOT WORK WITH ANY OTHER MOVEMENT.

Playing: 24 boards played, as 6 rounds of 4 boards

Stationary pairs: 1 NS, 2NS, 9NS (round 2),
pair 10 at table 5 (quasi).

Additions needed are:-

Set Up:
New table 5. Give out new table cards.
The new Pair 9 starts round 2 as Table 4 NS,
displacing pair 1 who move to table 5 NS.
Table 4 and Table 5 share throughout.
EBUScore: Set AM-5T-RV-6R as the new
movement from Round 2.

Notes:
a. Table 2 NS move to East/West at round 4
(not an arrow-switch).
b. A second new pair 10 would sit at Table 5 EW.
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